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Question 1

Question Type: MultipleChoice

You have acquired an existing program from a coworker which uses a macro. It is not immediately clear to you what this macro is doing.
Which OPTION can be used to put the SAS statements generated by the macro execution into the LOG?

Options:

A- MPRINT

B- SYMBOLGEN
C- MLOGIC

D- MRECALL

Answer:

A

Question 2

Question Type: MultipleChoice




Given the VITALS data set:

FATID VISIT FUL3SE 3Y3BP DIABP
141 Meek 1 &0 118 T2
141 Tleek Z &0 112 T2
141 Tleek 3 66 108 T2
141 Teek 4 76 116 76
218 esk 1 a7 130 73
218 Tleek 2 75 118 62
218 eek 3 91 127 79
z1s Mesk 4 T1 119 76

Which program was used to transpose the data set into the following structure?

PATID VISIT _MAME _LABEL COoL1

131 sk 1 PUL3E Pulze &0
141 ek 1 SYT3BP Syscolic BP 118
141 eek 1 DIABP Diastolic BP T2
141 Meal 2 FULSE Pulae GO
141 Meak 2 SY3EFP Systolic BP 112
141 ek 2 DIABP Diastolic BP T2
141 Wesk 3 FULSBE Fulse 66
141 Weslk 3 SYSEP Systolic BP 108
141 ek 3 DIABF Diamtolic BF T2
141 eek 4 FPULSE Pulzae 16

Options:

A- proc transpose data=vitals ;
var pulse sysbp diabp ;
run ;

B- proc transpose data=vitals ;
by patid visit ;



run ;
C- proc transpose data=vitals ;
var patid visit ;

run ;

D- proc transpose data=vitals ;
id patid visit ;

run ;

Answer:

B

Question 3

Question Type: MultipleChoice

Given the data set HE:



TSUEJID HETEER HESEQ HELDTR

201027 HOSPITALIZATION 1 50
201027 HOSPITALIZATICH 2 .

201027 HOSPITALIZATICON 3 10
201027 HOSPITALIZATICON ] 5

211046 HOSPITALIZATICON 1 g

211046 HOSPITALIZATICN 2

Tha following SAS Program is submitted:

data hos=p:
recain hospdurd;
ast HE;
by usubjid;
if first.usubjid then hospdurd=0;
ho=spdurd = hospdurd + hedur:
if last.usubjid;
run;

What will the values be of variable HOSPDURD for the two subjects?

Options:

A- 5, missing

B- missing, missing
C-65,9

D-50, 9

Answer:

B



Question 4

Question Type: MultipleChoice

Given the SAS data set WORK.VS1:

Subject Name  Visitl WVisitd Visitd Visicd Visics

101 SBP 160 150 . 130 120
The following SA3 program is submitted:
data WORE.VSZ;
get WORK.VWS1:;

Total=mean{of Visit:):
run;

Which value will be assigned to variable TOTAL?

Options:

A- missing
B-112
C- 140



D- 560

Answer:

Question 5

Question Type: MultipleChoice

The following SAS program is submitted:

data work.=um}
numl=1;
n'urﬂz m! ! 4
nured =numl-+nums ;
run;

What will be the result when the program executes?

Options:

A- num3 assigned a missing value

B- num3 assigned a value of 0



C- numg3 assigned a value of 1

D- An error due to mixed variable types in the assignment statement.

Answer:

A

Question 6

Question Type: MultipleChoice

The following SAS program is submitted:

dava WORKE.DIGE3TL:
array Observe{3} § 8 ('appendiecitis!, 'diverciculosis', 'gastroentericis');

run;:

What is the value of the second variable in the data set WORK.DIGESTL?

Options:

A- diverticulosis



B- divertic
C- a missing value

D- No variables are created.

Answer:

B

Question 7

Question Type: MultipleChoice

Which statement correctly creates a SAS date variable from a character variable?

Options:

A- sasdate = input(chardate,date9.);
B- sasdate = 'chardate'd;
C- sasdate = put(chardate,date9.);

D- sasdate = date(chardate,date9.);



Answer:
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